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	1) Решить неравенство:

	3x+5≤7x-3

1)x≤-2           3)x≥0,8               

2)x≥2             4)x≤0,2
	3(1-x)-(2-x)<5

1)x>-2             3)x<2 

2)x<-2             4)x>2


	6-3x<19-(x-7)

1)x>-10            3)x<-3

2)x<-10            4)x>-3
	[image: image1.png]



1)x≥4            3)x≤2

2)x≤-2           4)x≥1,1

	2) На каком рисунке изображено множество решений неравенства:

	36-x2≥0

1)

2)


3)


4)


	X2≤49

1)
2)


3)

4)
	X2≥16

1)
2)

3)

4)


	242-2x2≤0

1)
2)

3)

4)

	3) Решить неравенство:

	(x-13)(x+24)<0
	(x2-4x+3)(x2-5x)≥0
	(x2+2x-8)(3x-x2)≥0
	(x2+6)(x2-4)≤(2x2-3)(x2-4)

	Ответы: 1)[image: image3.png]00; 3] U [=2;2] U [3; +00)



;          2)[image: image5.png][-4;0] U [2;3]



;           3)[image: image7.png]00; 0J U [1; 3] U 5; +o0)



;             4)(-24;13);

	4) Решить неравенство:

	[image: image8.png]-5,
6—x





	[image: image9.png]x+4x-5
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	[image: image10.png]x2+7x—8
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	[image: image11.png]




	Ответы: 1)[image: image13.png]x € (—o9;—=5] U [3; +00)



;      2)[image: image15.png]x € (0;4) U (4;+00)



;           3)[image: image17.png]x € (2,5,6)



;           4)[image: image19.png]x € [-8;1] U (3; +o0)





	5) Равносильны ли неравенства

	[image: image20.png]1
—520n(* - 1)(Ex-5) 20




	[image: image21.png]2x —5
1—x

Z0u2x—-521-x




	[image: image22.png]X2 .y
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[image: image23.png](x=2)x+5)X+4)=0
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[image: image25.png]x-2)(2x-1)=0





	Ответы: если да – 2,    если нет – 1.
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